ADDITION OF INTEGERS

Example 1
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Example 3
5+(-6)
Start with tiles representing the first number.
++ 4+ + +
Add to the diagram tiles representing the
second number. +++ + +
Circle the zero pairs.
—1 15 the answer. -
5+(-6)=-1

ADDITION OF INTEGERS IN GENERAL

absolute valne.

When you add mtegers using the file model, zero pairs are only formed if the two nombers have
different signs. After you circle the zero pairs, you count the uncircled tiles to find the sum. If
the signs are the same, no zero pairs are formed, and yon find the sum of the tiles. Integers can
be added without building models by using the rmles below.

= [f the signs are the same, add the numbers and keep the same sign.

= [f the signs are different, ignore the signs (that is, use the absolute value of each nomber )
Subiract the number closest to zero from the number farthest from zero. The sign of the
answer 1s the same as the nomber that is farthest from zero, that is, the number with the preater

Example

For —4 + 2, —4 i5 farther from zero on the number line than 2, so subtract: 4 -2 =2.
The answer is —2, since the “4,” that is, the number farthest from zero, is negative in the onginal

problem.




Problems

Use either model or the rules above to find these sums.

1. 4+(-2)

4 -10+6

1. —5+(-8)
10. —-8+10
13, 3+4+6
16. —95+26

19. 105+ (—65)+20
22, —6+(3)+(-2)+9
25, 12+(=T)+(-8)+4+(=3)

28, 12+(-13)+18+(-16)

answers on next page...

11.
14.

17.

23.

26.

6+(-1)

—8+2

—10+(-2)

-T7+15

56 +17
35+(-6)+8
—6+2+(-4)+3+5
—6+(-3)+9
-26+(-13)

50 +(=70)+ 30
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T+{T)

—12+7

—-11+(-16)

—26+12
T+(-10)+(-3)
—113+ 274
3+(-3)+(-2)+(B)
20+ (-70)
-16+(-8)+9

19+ (-13) +(-3)+20
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